

Solicitation Vendor Price List

Run Date 02/09/2024

Prepared By : R. Lockhart

Solicitation No : CO-00684

Job # : 23-4513

Contract No : CO-00684-01

SAN ANTONIO WATER SYSTEM PO Box :2994 San Antonio, Texas, 78298-2449 TABULATION OF BIDS

Proposal : 2021 CMOM Package 2A (CIPP)

Time And Date : February 9, 2024 at 10:00AM

					CO-00684 - 1_SAK CONSTRUCTION				
Line No	Item No	Quote Category	SOV Item	Item Description	Unit	Unit Price	Quantity	Total Amount	
1	1 103.1			REMOVE CONCRETE CURB	LF	\$11.00	108	\$1,188.00	
2	2 103.3			REMOVE SIDEWALKS & DRIVEWAYS	SF	\$5.00	3,124	\$15,620.00	
3	3 203			TACK COAT	GAL	\$16.00	395	\$6,320.00	
2	4 205.2			HOT MIX ASPHALTIC PAVEMENT - TYPE B (10" COMPACTED DEPTH)	SY	\$121.00	455	\$55,055.00	
Ę	5 205.4			HOT MIX ASPHALTIC PAVEMENT - TYPE D (2" COMPACTED DEPTH)	SY	\$74.00	3,326	\$246,124.00	
e	6 208.1			SALVAGING, HAULING & STOCKPILING RECLAIMABLE ASPHALTIC PAVEMENT (2" DEPTH)	SY	\$16.00	3,713	\$59,408.00	
7	7 208.1			SALVAGING, HAULING & STOCKPILING RECLAIMABLE ASPHALTIC PAVEMENT (4" DEPTH)	SY	\$21.00	246	\$5,166.00	
8	8 299			FLOWABLE FILL	CY	\$226.00	11	\$2,486.00	
ç	9 SP 340.1			HMAC PVMT TY C (4" COMPACTED DEPTH) (TXDOT SPEC)	SY	\$105.00	246	\$25,830.00	
10) SP 340.2			HMAC PVMT TY B (10" COMPACTED DEPTH) (TXDOT SPEC)	SY	\$137.00	163	\$22,331.00	
11	1 SP 340.3			HMAC PVMT TY C (2" COMPACTED DEPTH) (TXDOT SPEC)	SY	\$89.00	387	\$34,443.00	
12	2 500			CONCRETE CURB, GUTTER, AND CONCRETE CURB AND GUTTER	LF	\$63.00	108	\$6,804.00	
13	3 502			CONCRETE SIDEWALKS	SY	\$111.00	85	\$9,435.00	
14	4 503.1			PORTLAND CEMENT CONCRETE DRIVEWAY	SY	\$126.00	264	\$33,264.00	
15	5 503.5			GRAVEL DRIVEWAY (REMOVE/INSTALL)	SY	\$33.00	142	\$4,686.00	
16	6 515.1			TOPSOIL	CY	\$45.00	3	\$135.00	
17	7 516.1			BERMUDA SODDING	SY	\$11.00	40	\$440.00	
18	8 520			HYDROMULCHING	SY	\$11.00	8	\$88.00	
19	9 SP 530.1			BARRICADES, SIGNS, AND TRAFFIC HANDLING - WORKSITE 1 (JACKSON KELLER)	LS	\$32,000.00	1	\$32,000.00	
20	0 SP 530.1			BARRICADES, SIGNS, AND TRAFFIC HANDLING - WORKSITE 2 (WEST)	LS	\$6,500.00	1	\$6,500.00	
21	1 SP 530.1			BARRICADES, SIGNS, AND TRAFFIC HANDLING - WORKSITE 3 (PLAINVEW)	LS	\$16,000.00	1	\$16,000.00	
22	2 SP 530.1			BARRICADES, SIGNS, AND TRAFFIC HANDLING - WORKSITE 4 (ALEXANDER)	LS	\$14,000.00	1	\$14,000.00	



Solicitation Vendor Price List

Run Date 02/09/2024

Prepared By : R. Lockhart

Solicitation No : CO-00684

Job # : 23-4513

Contract No : CO-00684-01

SAN ANTONIO WATER SYSTEM PO Box :2994 San Antonio, Texas, 78298-2449 TABULATION OF BIDS

Proposal : 2021 CMOM Package 2A (CIPP)

Time And Date : February 9, 2024 at 10:00AM

					CO-00684 - 1_SAK CONSTRUCTION			STRUCTION
Line No	Item No	Quote Category	SOV Item	Item Description	Unit	Unit Price	Quantity	Total Amount
23	SP 530.1			BARRICADES, SIGNS, AND TRAFFIC HANDLING - WORKSITE 5 (MULBERRY)	LS	\$11,000.00	1	\$11,000.00
24	SP 530.1			BARRICADES, SIGNS, AND TRAFFIC HANDLING - WORKSITE 6 (MESQUITE)	LS	\$11,000.00	1	\$11,000.00
25	SP 530.1			BARRICADES, SIGNS, AND TRAFFIC HANDLING - WORKSITE 7 (VIGNES)	LS	\$10,000.00	1	\$10,000.00
26	SP 530.2			EXTRA PORTABLE ELECTRONIC MESSAGE BOARDS	МО	\$2,000.00	4	\$8,000.00
27	SP 535.1			HOT APPLIED THERMOPLASTIC PAVEMENT MARKINGS (4" WIDE) (YELLOW)	LF	\$2.00	629	\$1,258.00
28	SP 535.2			HOT APPLIED THERMOPLASTIC PAVEMENT MARKINGS (4" WIDE) (WHITE)	LF	\$3.00	253	\$759.00
29	SP 535.3			HOT APPLIED THERMOPLASTIC PAVEMENT MARKINGS (6" WIDE) (WHITE)	LF	\$4.00	50	\$200.00
30	SP 535.4			HOT APPLIED THERMOPLASTIC PAVEMENT MARKINGS (8" WIDE) (WHITE)	LF	\$4.00	469	\$1,876.00
31	SP 535.7			HOT APPLIED THERMOPLASTIC PAVEMENT MARKINGS (24" WIDE) (YELLOW)	LF	\$16.00	13	\$208.00
32	SP 535.13			STRAIGHT WHITE ARROW	EA	\$263.00	1	\$263.00
33	SP 535.17			BICYCLE RIDER SYMBOL	EA	\$526.00	1	\$526.00
34	SP 535.8			RIGHT WHITE ARROW	EA	\$474.00	1	\$474.00
35	SP 536.7			PREFORMED PAVEMENT MARKINGS (24" WIDE) (WHITE)	LF	\$16.00	135	\$2,160.00
36	SP 536.21			PREFORMED PAVEMENT MARKINGS (12" WIDE) (BLACK)	LF	\$11.00	240	\$2,640.00
37	SP 537.6			PAVEMENT MARKER (TYPE I-C)	EA	\$16.00	15	\$240.00
38	SP 537.8			PAVEMENT MARKER (TYPE II A-A)	EA	\$32.00	30	\$960.00
39	SP 540			TEMPORARY EROSION, SEDIMENTATION AND WATER POLLUTION PREVENTION AND CONTROL (ALL SITES)	LS	\$20,000.00	1	\$20,000.00
40	550			TRENCH EXCAVATION SAFETY PROTECTION	LF	\$89.00	161	\$14,329.00
41	SP 551			TEMPORARY SPECIAL SHORING	LS	\$27,000.00	1	\$27,000.00
42	848			8" PVC GRAVITY SANITARY SEWER PIPE (ASTM 3034, 115 PSI), (ALL DEPTHS)	LF	\$1,300.00	17	\$22,100.00
43	850			POLYMER CONCRETE SANITARY SEWER STRUCTURES	EA	\$94,000.00	2	\$188,000.00
44	851			EXISTING MANHOLE ADJUSTMENT	EA	\$3,900.00	11	\$42,900.00



Solicitation Vendor Price List

Run Date 02/09/2024

Prepared By : R. Lockhart

Solicitation No : CO-00684

Job # : 23-4513

Contract No : CO-00684-01

SAN ANTONIO WATER SYSTEM PO Box :2994 San Antonio, Texas, 78298-2449 TABULATION OF BIDS

Proposal : 2021 CMOM Package 2A (CIPP)

Time And Date : February 9, 2024 at 10:00AM

						CO-00684 - 1_SAK CONSTRUCTION			
Line No	Item No	Quote Category	SOV Item	Item Description	Unit	Unit Price	Quantity	Total Amount	
45	5 852			SANITARY SEWER MANHOLE (0'-6')	EA	\$16,700.00	2	\$33,400.00	
46	852			SANITARY SEWER MANHOLE DROP (0'-6')	EA	\$20,000.00	1	\$20,000.00	
47	7 852			EXTRA DEPTH MANHOLES (GREATER THAN 6')	VF	\$525.00	10	\$5,250.00	
48	3 855			RECONSTRUCTION OF EXISTING MANHOLES (ANY TYPE OR SIZE)	EA	\$19,500.00	7	\$136,500.00	
49	9 858			CONCRETE ENCASEMENT, CRADLES, SADDLES AND COLLARS	CY	\$800.00	4	\$3,440.00	
50	864			BYPASS PUMPING (LARGE DIAMETER SANITARY SEWERS) - WORKSITE 1 (JACKSON KELLER)	LS	\$115,000.00	1	\$115,000.00	
51	864			BYPASS PUMPING (LARGE DIAMETER SANITARY SEWERS) - WORKSITE 3 (PLAINVIEW)	LS	\$175,000.00	1	\$175,000.00	
52	2 864			BYPASS PUMPING (LARGE DIAMETER SANITARY SEWERS) - WORKSITE 4 (ALEXANDER)	LS	\$90,000.00	1	\$90,000.00	
53	3 865			BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) - WORKSITE 1 (JACKSON KELLER)	LS	\$10,000.00	1	\$10,000.00	
54	865			BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) - WORKSITE 2 (WEST)	LS	\$10,000.00	1	\$10,000.00	
55	5 865			BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) - WORKSITE 4 (ALEXANDER)	LS	\$10,000.00	1	\$10,000.00	
56	865			BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) - WORKSITE 5 (MULBERRY)	LS	\$10,000.00	1	\$10,000.00	
57	7 865			(MESQUITE)	LS	\$10,000.00	1	\$10,000.00	
58	3 865			BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) - WORKSITE 7 (VIGNES)	LS	\$90,000.00	1	\$90,000.00	
59	9 866			PRE SEWER MAIN TELEVISION INSPECTION (8"-15")	LF	\$5.00	2,785	\$13,925.00	
60) 866			PRE SEWER MAIN TELEVISION INSPECTION (18"-24")	LF	\$15.00	539	\$8,085.00	
61	866			PRE SEWER MAIN TELEVISION INSPECTION (27" AND LARGER)	LF	\$24.00	799	\$19,176.00	
62	2 SP 901.1			INSTALL CIPP SANITARY SEWER PIPE (HOT WATER), ALL DEPTHS (8 IN)	LF	\$270.00	1,919	\$518,130.00	
63	3 SP 901.1			INSTALL CIPP SANITARY SEWER PIPE (HOT WATER), ALL DEPTHS (12 IN)	LF	\$295.00	405	\$119,475.00	
64	SP 901.1			INSTALL CIPP SANITARY SEWER PIPE (HOT WATER), ALL DEPTHS (15 IN)	LF	\$300.00	447	\$134,100.00	
65	5 SP 901.1			INSTALL CIPP SANITARY SEWER PIPE (HOT WATER), ALL DEPTHS (21 IN)	LF	\$600.00	423	\$253,800.00	
66	SP 901.1			INSTALL CIPP SANITARY SEWER PIPE (HOT WATER), ALL DEPTHS (24 IN)	LF	\$1,100.00	116	\$127,600.00	



Solicitation Vendor Price List

Run Date 02/09/2024

Prepared By : R. Lockhart

Solicitation No : CO-00684

Job # : 23-4513

Contract No : CO-00684-01

SAN ANTONIO WATER SYSTEM PO Box :2994 San Antonio, Texas, 78298-2449 TABULATION OF BIDS

Proposal : 2021 CMOM Package 2A (CIPP)

Time And Date : February 9, 2024 at 10:00AM

						CO-00684 - 1_SAK CONSTRUCTION			
Line No	Item No	Quote Category	SOV Item	Item Description	Unit	Unit Price	Quantity	Total Amount	
67	SP 901.1			INSTALL CIPP SANITARY SEWER PIPE (HOT WATER), ALL DEPTHS (27 IN)	LF	\$440.00	380	\$167,200.00	
68	SP 901.1			INSTALL CIPP SANITARY SEWER PIPE (HOT WATER), ALL DEPTHS (30 IN)	LF	\$460.00	372	\$171,120.00	
69	910			MANHOLE REHABILITATION	VF	\$510.00	59	\$30,090.00	
70	910.2			MANHOLE STRUCTURE REHABILITATION (5' DIAMETER)	VF	\$255.00	22	\$5,610.00	
71	910.3			MANHOLE STRUCTURE REHABILITATION (6' DIAMETER)	VF	\$605.00	31	\$18,755.00	
72	910.4			STRUCTURE 26896 REHABILITATION	VF	\$745.00	22	\$16,390.00	
73	910.5			STRUCTURE 13527 REHABILITATION	VF	\$965.00	11	\$10,615.00	
74	1020.1			6" MAIN BREAK REPAIR, CLAMP INSTALLATION METHOD	EA	\$5,000.00	1	\$5,000.00	
75	1020.2			6" MAIN BREAK REPAIR, PIPE REPLACEMENT METHOD	EA	\$12,000.00	1	\$12,000.00	
76	SP 1103			POINT REPAIRS UP TO 9 LF FOR 8" DIAMETER (0'-6' DEPTH)	EA	\$4,500.00	2	\$9,000.00	
77	SP 1103			POINT REPAIRS UP TO 9 LF FOR 8" DIAMETER (6'-10' DEPTH)	EA	\$6,500.00	3	\$19,500.00	
78	SP 1103			POINT REPAIRS UP TO 9 LF FOR 12" DIAMETER (10'-14' DEPTH)	EA	\$7,500.00	1	\$7,500.00	
79	SP 1103			POINT REPAIRS UP TO 9 LF FOR 15" DIAMETER (6'-10' DEPTH)	EA	\$1,500.00	2	\$3,000.00	
80	SP 1103			POINT REPAIRS UP TO 9 LF FOR 21" DIAMETER (ALL DEPTHS)	EA	\$12,750.00	1	\$12,750.00	
81	SP 1103			POINT REPAIRS UP TO 9 LF FOR 24" DIAMETER (ALL DEPTHS)	EA	\$13,000.00	1	\$13,000.00	
82	SP 1103			POINT REPAIRS UP TO 9 LF FOR 27" DIAMETER (ALL DEPTHS)	EA	\$13,500.00	1	\$13,500.00	
83	SP 1103			POINT REPAIRS UP TO 9 LF FOR 30" DIAMETER (ALL DEPTHS)	EA	\$18,000.00	2	\$36,000.00	
84	SP 1103			EXTRA LENGTH POINT REPAIRS FOR 8" OR 10" DIAMETER (6'-10' DEPTH)	LF	\$150.00	62	\$9,300.00	
85	SP 1103			EXTRA LENGTH POINT REPAIRS FOR 12" DIAMETER (10'-14' DEPTH)	LF	\$180.00	10	\$1,800.00	
86	SP 1103			EXTRA LENGTH POINT REPAIRS FOR 15" DIAMETER (6'-10' DEPTH)	LF	\$200.00	10	\$2,000.00	
87	SP 1103			EXTRA LENGTH POINT REPAIRS FOR 21" DIAMETER (ALL DEPTHS)	LF	\$220.00	10	\$2,200.00	
88	SP 1103			EXTRA LENGTH POINT REPAIRS FOR 24" DIAMETER (ALL DEPTHS)	LF	\$240.00	10	\$2,400.00	



Solicitation Vendor Price List

Run Date 02/09/2024

Prepared By : R. Lockhart

Solicitation No : CO-00684

Job # : 23-4513

Contract No : CO-00684-01

SAN ANTONIO WATER SYSTEM PO Box :2994 San Antonio, Texas, 78298-2449 TABULATION OF BIDS

Proposal : 2021 CMOM Package 2A (CIPP)

Time And Date : February 9, 2024 at 10:00AM

						CO-00684 - 1_SAK CONSTRUCTION			
Line No	Item No	Quote Category	SOV Item	Item Description	Unit	Unit Price	Quantity	Total Amount	
89	SP 1103			EXTRA LENGTH POINT REPAIRS FOR 27" DIAMETER (ALL DEPTHS)	LF	\$290.00	10	\$2,900.00	
90	SP 1103			EXTRA LENGTH POINT REPAIRS FOR 30" DIAMETER (ALL DEPTHS)	LF	\$490.00	48	\$23,520.00	
91	SP 1103			OBSTRUCTION REMOVAL BY REMOTE DEVICE, 8"-15" DIAMETER, ALL DEPTHS	EA	\$125.00	9	\$1,125.00	
92	SP 1103			OBSTRUCTION REMOVAL BY REMOTE DEVICE, 18"-36" DIAMETER, ALL DEPTHS	EA	\$125.00	8	\$1,000.00	
93	SP 1109.1			SANITARY SEWER LATERAL RECONNECTIONS BY OPEN CUT CONNECTION, INCLUDING 10 LF OF LATERAL	EA	\$15,000.00	5	\$75,000.00	
94	SP 1109.2			SANITARY SEWER LATERAL RECONNECTIONS BY REMOTE DEVICE	EA	\$100.00	48	\$4,800.00	
95	SP 1109.3			SANITARY SEWER LATERAL INVESTIGATION (INCLUDING LICENSED PLUMBER)	EA	\$12,000.00	3	\$36,000.00	
96	SP 1109.4			SANITARY SEWER LATERAL PLUGGING	EA	\$3,750.00	3	\$11,250.00	
97	SP 100			MOBILIZATION AND DEMOBILIZATION (ALL SITES), MAX 10% OF LINE ITEMS 1-96	LS	\$150,000.00	1	\$150,000.00	
98	SP 101			6PREPARING RIGHT-OF-WAY (ALL SITES), MAX 5% OF LINE ITEMS 1-96	LS	\$75,000.00	1	\$75,000.00	
99	102			INTERMEDIATE DEMOBILIZATION AND REMOBILIZATION (ALL SITES)	EA	\$15,000.00	1	\$15,000.00	
				Total			\$3,840,422.00		
Calendar Days To Complete :		330							